Round humbers 0-10,000 to the nearest I0

Round to the nearest ten.

(1D 5944= 1) 9,091=
(2) 7.548= (12 3,205=
® 2571= 13 4,759 =
(4) 3,932= 9 6,877=
(5) 2,585= (19 7,506 =
(6 4,011= e 4,131=
@ 4102= 17 3,739=
3,726 = (8 5,716=
(9 4.661= 19) 3,392=

®

1,393 = 20) 6,605 =

Please visit our site for worksheets and charts https://whatistheurl.com/



Round humbers 0-10,000 to the nearest I0

Answer key

® @ @ @ & © o

® ©

5,944 = 5,940

7,548 = 7,550

2,571 =2,570

3,932 =3,930

2,585 =2,590

4,011 =4,010

4,102=4,100

3,726 = 3,730

4,661 = 4,660

1,393 =1,390

Please visit our site for worksheets and charts https://whatistheurl.com/

A1) 9,091 =9,090

12 3,205=3,210

4,759 = 4,760

® ®

6,877 = 6,880

7,506 =7,510

@ ®

4,131 =4,130

3,739 = 3,740

@ ®

5,716 =5,720

©

3,392 = 3,390

®

6,605 =6,610




Round humbers 0-10,000 to the nearest I0

Round to the nearest ten.

® 7.715= (1) 9,493=
(2) 9.552= 12 3,779=
(3) 3.446= (13) 9,657=
(4) 6302= 8,286 =
(5) 6.805= (15 8,856 =
(6) 8497= d¢) 8,191=
(7) 3.489= A7) 4,425=
8,338 = 18 6,750 =
©® 5512= 19) 3,005=

®

1,816 = 20) 8,465 =

Please visit our site for worksheets and charts https://whatistheurl.com/



Round humbers 0-10,000 to the nearest I0

Answer Key

® @ @ @ & © o

® ©

7,7115=7,720

9,562 =9,550

3,446 = 3,450

6,302 = 6,300

6,805 =6,810

8,497 = 8,500

3,489 = 3,490

8,338 = 8,340

5,512 =5,510

1,816 =1,820

Please visit our site for worksheets and charts https://whatistheurl.com/

1) 9,493 =9,490

12 3,779=3,780

9,657 =9,660

® ®

8,286 = 8,290

8,856 = 8,860

@ ®

8,191 =8,190

4,425 = 4,430

@ ®

6,750 =6,750

©

3,005 =3,010

®

8,465 =8,470




